The equation of the plane containing the line 2X—-5y+2 =3, X+ y+4z =5 and parallel to the
plane X+3y+6z=11is

(1) x+3y+6z=—-7
(2) x+3y+6z2=7

(3) 2x+6y+12z =-13
(4) 2x+6y+12z=13

Solution
Equation of plane parallelto X+3y+6z=1is P=x+3y+6z=Kk

Plane passing through the intersection of 2X—5y+2z =3 and X+ y+4z =5 is given by
P'=(2x-5y+z-3)+A(Xx+y+4z-5)=0

or, P'=(2+A)x+(-5+A)y+(1+41)z=3+51

2+A -5+A4 1+44 3+54

P=P',
1 3 6 k
—2+ﬂ = S yields 12—1—1
1 2
—2:—2 = Ca yields k =7

Hence, the required planeis X +3y+6z =7

Option (2)
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